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QUESTION 1

When considering Cloud and Transport orchestration, evaluate whether the following statement is true or false: NFVO is
to Cloud what SDN is to Transport.

A. False
B. True

Correct Answer: A

QUESTION 2
What is the Unstructured Data Storage Function (UDSF)?

A. This network function exposes 5G Core Network functionalities available to 3rd parties, so that 3rdparty capabilities
and events may be securely exposed by the Network Exposure Function (NEF).

B. This network function is part of data repositories in the Common Data Layer. It stores 3GPP standardized data.

C. This network function is part of data repositories in the Common Data Layer and in opposition to the UDR, it stores
non-standardized ?Unstructured ?data.

D. This network function stores or retrieves subscriptions, profiles, and authentication data to or from the data
repositories. It offers services to the AMF, SMF, NEF and AUSF using the Service Based Interface.

Correct Answer: A

Reference: https://webthesis.biblio.polito.it/12557/1/tesi.pdf

QUESTION 3

Which of the following drive 5G higher reliability?
A. Higher spectral efficiency

B. Multi-connectivity per User Equipment

C. Connectionless radio access

D. Lower Time Transmission Interval (TTI)
Correct Answer: A

Reference: https://learningstore.nokia.com/doc/5¢g/5G_Foundation_Study _Guide_BL00125_M_%2020 02.pdf (9)

QUESTION 4

Which of the following is not a part of an E2E Network Slice?
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A. Cloud Slice

B. Core Slice

C. Access Slice
D. Transport Slice

Correct Answer: A

QUESTION 5

A. Service based architecture, stateless networkfunctions, Cloud-ready network functions and modular network
functions.

B. Client/Server architecture, stateless network functions, Cloud-ready network functions and modular network
functions.

C. Client/Server architecture, Cloud-ready network functions,and modular network functions.

Correct Answer: B
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